

NAME: Nwokorie Patrick C.

DEPARTMENT: COMPUTER ENGINEERING

MATRIC NO: 19/ENG 02/036

$$(i) \quad y = \frac{[(x+1)^2 (x-2)^{1/2}]}{[(2x-1)(x-3)^{4/3}]}$$

$$\ln y = \ln [(x+1)^2] + \ln [(x-2)^{1/2}] - \ln [2x-1] - \ln [(x-3)^{4/3}]$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{1}{(x+1)^2} \cdot 2(x+1) + \frac{1}{(x-2)^{1/2}} \cdot \frac{1}{2} (x-2)^{-1/2}$$

$$- \frac{1}{2x-1} \cdot 2 - \frac{1}{(x-3)^{4/3}} \cdot \frac{4}{3} (x-3)^{1/3}$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{2(x+1)}{(x+1)^2} + \frac{1/2 (x-2)^{-1/2}}{(x-2)^{1/2}}$$

$$\frac{2x-1}{2x-1} - \frac{4/3 (x-3)^{1/3}}{(x-3)^{4/3}}$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{2}{(x+1)} + \frac{1}{2} \cdot \frac{1}{(x-2)^{1/2}} \cdot \frac{1}{(x-2)^{1/2}}$$

$$- \frac{2}{2x-1} - \frac{4/3}{(x-3)^{-1/3}} \cdot \frac{1}{(x-3)^{4/3}}$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{2}{(x+1)} + \frac{1}{2(x-2)} - \frac{2}{(2x-1)} - \frac{4}{3} (x-3)$$

$$\frac{dy}{dx} = y \left[\frac{2}{(x+1)} + \frac{1}{2(x-2)} - \frac{2}{(2x-1)} - \frac{4}{3} (x-3) \right]$$

$$\frac{2}{2x-1} - \frac{4/3}{(x-3)^{4/3}}$$

$$\frac{1}{y} \frac{dy}{dx} = \frac{2}{(x+1)} + \frac{1}{2} \frac{1}{(x-2)^{1/2}} \cdot \frac{1}{(x-2)^{1/2}}$$

$$- \frac{2}{2x-1} - \frac{4/3}{(x-3)^{4/3}} \cdot \frac{1}{(x-3)^{-1/3}} \cdot \frac{1}{(x-3)^{4/3}}$$

$$\frac{1}{y} \frac{dy}{dx} = \frac{2}{(x+1)} + \frac{1}{2(x-2)} - \frac{2}{(2x-1)} - \frac{4}{3(x-3)}$$

$$\frac{dy}{dx} = y \left[\frac{2}{(x+1)} + \frac{1}{2(x-2)} - \frac{2}{(2x-1)} - \frac{4}{3(x-3)} \right]$$

$$\frac{dy}{dx} = \left[\frac{[(x+1)^2 (x-2)^{1/2}]}{[(2x-1) (x-3)^{4/3}]} \right] \left[\frac{2}{(x+1)} + \frac{1}{2(x-2)} \right]$$

$$- \frac{2}{(2x-1)} - \frac{4}{3(x-3)} //$$

2.)

$$y = \frac{3e^k \sin 2k}{k^{5/2}}$$

Find the log of both sides

$$\ln y = \ln 3e^k + \ln \sin 2k - \ln k^{5/2}$$

Differentiate with respect to k

$$\frac{d}{dk} (\ln y) = \frac{d}{dk} (3e^k) + \frac{d}{dk} (\ln \sin 2k) - \frac{d}{dk} (\ln k^{5/2})$$

$$\frac{1}{y} \cdot \frac{dy}{dk} = \frac{1}{3e^k} (3e^k) + \frac{1}{\sin 2k} (\cos 2k) - \frac{1}{k^{5/2}} (5/2 k^{3/2})$$

$$\frac{1}{y} \cdot \frac{dy}{dk} = \frac{3e^k}{3e^k} + \frac{\cos 2k}{\sin 2k} - \frac{5/2 k^{3/2}}{k^{5/2}}$$

Multiply both sides by y

$$\frac{dy}{dk} = y \left[1 + \frac{\cos 2k}{\sin 2k} - \frac{5/2 k^{3/2}}{k^{5/2}} \right]$$

$$\frac{dy}{dk} = \frac{3e^k \sin 2k}{k^{5/2}} \left[1 + \frac{\cos 2k}{\sin 2k} - \frac{5/2 k^{3/2}}{k^{5/2}} \right]$$

$$3:1) \int 4 \sec^2 (3m+1) dm$$

$$\text{let } u = 3m+1$$

$$\frac{du}{dm} = 3$$

$$dm$$

$$du = 3 dm$$

$$dm = \frac{du}{3}$$

}

$$\int 4 \sec^2 u \cdot \frac{du}{3}$$

$$4/3 \int \sec^2 u \cdot du$$

$$4/3 [\tan u] + C$$

$$4/3 [\tan (3m+1)] + C$$

$$4i) \int \frac{2t (3t^2 - 1)^{1/2} dt}{4 - 3t^2 - 1}$$

$$\frac{du}{dt} = 6t$$

$$6t dt = du$$

$$dt = \frac{du}{6t}$$

$$\int \frac{2t \cdot (u)^{1/2} \frac{du}{6t}}{6t}$$

$$\int \frac{1}{3} \times u^{1/2} du$$

$$\frac{1}{3} \int u^{1/2} du$$

$$= \frac{1}{3} \times \frac{u^{1/2+1}}{1/2+1} + C$$

$$= \frac{1}{3} \times \frac{2}{3} u^{3/2} + C$$

$$= \frac{2}{9} u^{3/2} + C$$

$$= \frac{2}{9} (3t^2 - 1)^{3/2} + C$$

5)

$$\int \frac{2x}{(4x^2 - 1)^{1/2}} dx$$
$$= \int 2x (4x^2 - 1)^{-1/2} dx$$

$$\text{let } u = 4x^2 - 1$$

$$du = 8x$$

$$dx$$

$$dx = \frac{du}{8x}$$

$$= \int 2x \cdot (u)^{-1/2} \cdot \frac{du}{8x}$$

$$\begin{aligned}
&= \frac{1}{4} \int u^{-1/2} du \\
&= \frac{1}{4} \times \frac{u^{-1/2+1}}{-1/2+1} \\
&\neq \frac{1}{4} \times \frac{u^{1/2}}{1/2} \\
&= \frac{1}{4} \times \frac{u^{1/2}}{1/2} \\
&= \frac{1}{4} \times 2u^{1/2}
\end{aligned}$$

SORRY MA, for submitting Late
 I'm VERY SORRY